<

OrHO SET-3| |

Series HFG1E/2 [m] 524 ?P_qg:jj 58/2/3

e . vligeff JH-u3 RIE HI IT-IETH H
Roll No. q@-8 W 37999 a6 |

Candidates must write the Q.P. Code
on the title page of the answer-book.

HAITE (e

ECONOMICS (Theory)

faerfiRa aaa : 8 ave IfeFEaq J# : 80
Time allowed : 3 hours Maximum Marks : 80

o HUATIAE H T b 39 TA-TA H 4fGd T3 31 % |
-9 H e 719 Sl 3R ST 10 y97-93 hig 1 waeff Sw-gfast & §@-T9 |

T ferd |

T A S foh S TA-TAH 34 THE |

HUAT I3 1 IR FoTEm 1 & T A ugat, STR-Yeht | U9 i SR sravd ford |

39 Y- 1 U & fIw 15 T o1 fem e 2 | soa-ua o7 foao qatg # 10.15

o1 fopam ST@m | 10.15 S ® 10.30 S @ qerefl hae WeH-UF I Ueh 3R 39

31afer o SRH o ITR-JFEThT T hIE I T8l forg |

Please check that this question paper contains 31 printed pages.
Q.P. Code given on the right hand side of the question paper should be |
written on the title page of the answer-book by the candidate.
Please check that this question paper contains 34 questions.
Please write down the serial number of the question in the answer-
book before attempting it.
15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30
a.m., the candidates will read the question paper only and will not write
any answer on the answer-book during this period.

E'E.: 58/2/3 {1 > %%% P.T.

@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@@
e o o [ ]

° 4@}@@@@@@@@@@@@@@@@@@@@@@89@@@@@@@@@@@@@@@@@@@@@@@@@%'



e e

Frafeftem et = aga Traur @ ufe iR 7@ ure i ;

()
(1)

(iii)

(iv)

(v)

(vt)

(vii)

57 F97-T7 7 T 34 97 & | @1 397 31419 & |

T8 J97-97 31 @S] F [F91f57 & — T8 & 7T & |

GUe-F : GHID 37V

GUG-T : YRAT I TET H] [T

3G Y9777 4 -0 37 % 20 TglahediT I8 |

3G Fv7-97 § @A 3751 & 4 Tg-ITT IHR-1 F 597 & 575 30 60 @ 80
yreg] H forg ST TR |

59 F¥7-97 § WR-¥R 37%) 3 6 75-3707 Fhr-11 3 397 & 573 37 80 @ 100
yeg] H forg ST TR |

59 Y- § B:-5: 3] & 4 G5 -39 YR & 597 8 577 37 100 @ 150 vreg)
g for@ o =113 |

Y% G99 & G 97T & I Tk qre forg i iR |

Qg —<h

(FETE srefvme)

1. gt 30 3TEW, Tk SFAEAMYHT, U Heq1 H AIfvTfsoes Sehi & U B aret fafe=T St
YRRl o SR H qHe &1 &) | 3= et foh —

“ A1 Y51 JTYfd ok M1 19 61 T8I &, qUT 0TIk sfehi g1 AT 0 o7 € & 7

37k BT FHFATE T FHT TR 1 TE=T o Hal fehed o1 =13 & -

@) @t

(i) ety |

(111) STHREL THT JISHT

fereheu :
(a) ¥™ @) (b) = (1)
(© @) (d) @, (1) = (1)
[=) 58]
58/2/3 =t
<2 > 2



General Instructions :

Read the following instructions carefully and follow them :

(1)
(1)

(iii)
(iv)
(v)

(vi)

This question paper contains 384 questions. All questions are
compulsory.

This question paper contains two Sections A and B.

Section — A : Macro Economics

Section — B : Indian Economic Development

This paper contains 20 Multiple Choice Questions type questions of
1 mark each.

This paper contains 4 Short Answer Questions type-I questions of
3 marks each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions type-II questions of
4 marks each to be answered in 80 to 100 words.

This paper contains 4 Long Answer type Questions of 6 marks each to
be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

Section - A

(Macro Economics)

1. Ms. Iqra Ansari, a teacher, was explaining in her class about various

types of deposits with the commercial banks. She quoted that —

“These deposits form a part of M1 measure of money supply and are

payable on demand by the commercial banks.”

Identify the type of deposits she was explaining about and choose the

correct alternative :

@

Demand Deposits

(1) Time Deposits

(iii) Post Office Deposits

Alternatives :
(@) Only (i) (b) Only (i)
(¢) (1) and (1) (d) (@), (11) and (111)
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2.  As per the Reserve Bank of India (RBI) press report, dated 22nd June,
2022 : 1
“Net Foreign Portfolio Investment (FPI) recorded an outflow of US$15.2
billion mainly from the equity market.”

The above transaction will be recorded in the account on side

of Balance of payments account of India. (Choose the correct alternative)
(a) current, credit (b) current, debit

(c) capital, credit (d) capital, debit

3. “In the Annual Budget 2022-23, the Government of India set up

disinvestment targets of ¥ 65,000 crore”.

Such proceeds from disinvestment can be classified as __ receipts in the
Government Budget as it leads to___ of the Government.
(Choose the correct alternative) 1
(a) capital, decrease in assets (b) revenue, increase in assets
(c) capital, increase in liabilities (d) revenue, decrease in liabilities
4. Read the following statements carefully : 1

Statement 1 : The induced consumption shows, the direct relation
between consumption and income.

Statement 2 : With a certain increase in income, induced consumption
also increases.

In the light of the given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.
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Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below :

Assertion (A) : The Balance of Payments is in surplus, if autonomous
receipts are greater than autonomous payments.

Reason (R) : Autonomous transactions are determined by the difference
in the Balance of Payments.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

In order to tackle the problem of rising general price level in an economy,
government may come up with a surplus budget to achieve the budget
objective of

(1) reallocation of resources

(1) price stability

(111) redistribution of income

Alternatives :

(a) () only (b) (@11) only

(¢) (i) only (d) @) and (111)

(A) In the Indian economy, are issued by the Reserve Bank of

India and acts as legal tender money.
(1) Coins of all denomination
(i1) Currency notes of various denominations, except one rupee note

(111) Demand deposits

Alternatives :
(@ Only (@) (b) Only (i)
(¢) Only (ii1) (d) @) and (i1)

OR
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B) __ formulates the Monetary Policy in the economy.
(Fill up the blank with correct alternative) 1
(a) Commercial Banks (b) International Monetary Fund
(¢) Central Bank (d) Central Government

8. (A) Read the following statements carefully :
Statement 1 : Gross Domestic Product (GDP) is the sum total of the
gross market value of all the final goods and services added by
all the sectors in the economy during a fiscal year. 1
Statement 2 : Gross Value Added at Market Price (GVA;p) is equal

to the excess of value of output over intermediate consumption.
In the light of the given statements, choose the correct alternative
from the following :
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(¢) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.
OR
(B) On the basis of the figure given below, identify the type of flow
indicated by B and D :

(Choose the correct alternative) 1

Spending

Households

Factor Payments

Factor Services

D
Alternatives :
(a) Real flow (b) Money flow
(¢) Nominal flow (d) National flow
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9. Assuming that, the following data is given for an imaginary economy : 1

Year | 2020 R in Cr.) | 2021 R in Cr.)

Items

Exports of visbles 1,000 1,100

Imports of visibles 800 850
The balance of Trade from 2020 to 2021 by % crore.

(Choose the correct alternative)

(a) 1increased, 200 (b) decreased, 200
(c) 1increased, 50 (d) decreased, 50

10. (A) Read the following statements — Assertion (A) and Reason (R).
Choose one of the correct alternatives given below : 1
Assertion (A) : At the break-even level of income, the value of
Average Propensity to Consume (APC) is zero.

Reason (R) : Sum of Average Propensity to Consume (APC) and
Average Propensity to Save (APS) is always equal to one.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

OR
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B)

11. (a)

(b)

refers to that level of Aggregate Demand, which can be met by

the corresponding supply in the economy.
(Fill up the blank with correct alternative)
(a) Autonomous Consumption (b) Effective Demand

(¢) Excess Demand (d) Deficient Demand

“Under the flexible exchange rate system, the Central Bank does not
intervene in the foreign exchange market.”
Justify the statement, giving valid arguments.
OR
Explain the impact of home currency depreciation on the exports of a

nation.

12. On the basis of the data given below for an imaginary economy, estimate

the value of Gross National Product at Market price (GNPyp) :

S. No. Items Amount
(X in crore)
1) Household Consumption Expenditure 2,000
(11) Government Final Consumption Expenditure 1,000
(111) Gross Fixed Capital Formation 1,100
@iv) Net additions to Stock 200
v) Exports 600
(vi) Net factor income from abroad 150
(vi1) Imports 400

13. With suitable examples, distinguish between Direct taxes and Indirect

taxes.

58/2/3
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14. “The process of credit creation by commercial banks comes to an end when
the total of required reserves become equal to the initial deposits.”
With the help of a numerical example, prove that the given statement is

true. 4

15. (a) “In an economy Planned spending is more than planned output”.
Explain its impact on the level of output, income and employment. 4
OR
(b) For a hypothetical economy, assuming there is an increase in the
Marginal Propensity to Consume from 80% to 90% and change in
investment to be ¥ 2,000 crore. 4
Using the concept of investment multiplier, calculate the increase in

income due to change in Marginal Propensity to Consume.

16. (a) (1) “Many goods and services which may contribute to welfare, but
are not included in estimating Gross Domestic Product (GDP).”
Do you agree with the given statement ? Give valid reason in
support of your answer. 3
(11) With suitable examples, distinguish between final goods and
intermediate goods. 3
OR
(b) (1) Using a suitable numerical example, distinguish between Real
Gross Domestic Product (GDP) and Nominal Gross Domestic
Product (GDP). 4

(i) State the meaning of ‘normal resident’ of a country. 2
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17. Read the following text carefully and answer the given questions on the

basis of the same and common understanding.

On 30th September 2022, the Reserve Bank of India (RBI) raised Repo
Rate for the fourth time in a row. The Monetary Policy Committee (MPC)
decided to raise the policy rate by 50 basis points

1
(1 basis point = ﬁth of a percent) . After this announcement, the new

repo rate stands at 5.9%, while the reverse repo rate continues to stand at

3.35%.

Commercial banks borrow money from the Central Bank, when there
is a shortage of funds. With the surge in the repo rate, borrowings by
general public will become costlier. This is because, as RBI hikes its repo
rate, it becomes costly for the banks to borrow short term funds from the

Central Bank.

As a result, the banks hike the rates at which customers borrow
money from them to compensate for the hike in the repo rate. This
happens because banks offer loans to retail consumers at an interest rate

which is generally, directly proportional to the repo rate.

The increase of 0.50 percent in repo rate will lead to a higher interest
rates on loans for borrowers, implying that the Equated Monthly
Instalments (EMIs) for repaying the existing loans will also increase.

Source: https://www.businessstandard.com/article/economicpolicy/rbi-monetary-

policy-repo-rate-up-by-50bps-here-s-how-it-will-impact-you-122093000267 (Edited)

(a) Differentiate between repo rate and reverse repo rate. 2

(b) Outline and discuss the measure taken by the Monetary Policy

Committee of Reserve Bank of India to control inflation. 4
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18.

19.

20.

Section - B

(Indian Economic Development)

Read the following statements carefully : 1

Statement 1 : China introduced structural economic reforms on its own,
without any pressure.

Statement 2 : Scholars argue that in India, the economic reforms process
led to the worsening of all the economic indicators.

In the light of the given statements, choose the correct alternatives from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

Which of the following was NOT the benefit accruing from ‘Golden
Revolution’ ? (Choose the correct alternative) 1
(a) Increase in the income of the farmers.

(b) Increase in production of milk and related products.

(¢) Increase in production and exports of fruits and vegetables.

(d) Employment for women in rural areas.

Which of the following is NOT true about foreign trade during the colonial

rule ? (Choose the correct alternative) 1

(a) India suffered from large trade deficit.

(b) Restrictive policies of commodity production, were followed.

(¢) Britain maintained a monopoly control over India’s exports and
imports.

(d) India became an exporter of primary products and an importer of

finished consumer goods.
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T (R) : S USf 3T B 2 |

ferepea

(a) 3INHYF (A) 3TR HROT (R) gHT TT & TR HRT (R), AT (A) i @&
T2 |

(b) RTHYT (A) 3T HHO (R) THI Tcd & I HRT (R), IA0HUT (A) i Tl
ST TR 8 |

(¢) IANHUT (A) T 7, A1 HROT (R) TTA R |

(d) 3TRReT (A) 3 &, Al S0 (R) T3 © |

3AUdn

Wiferen ot =T o sheret T Geenati <l fireran 2; Stafes ama doft fosft o -

qrey 1T oft Je Tt @ | (Tt forepea g, ek w2 Y gfd i)

(a) TEREH (b) M

() TS (@ wifsw
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21. (A is a process, which includes all the activities from sowing till
sale of the final produce in the market.

(Fill up the blank with correct alternative) 1

(a) Rural Development (b) Agricultural Diversification
(¢) Organic Farming (d) Agricultural Marketing
OR
B) have emerged as an important micro finance system and led

to women empowerment. (Fill up the blank with correct alternative) 1
(a) NABARD (b) Self-Help Groups
(¢) Commercial Banks (d) Land Development Banks

22. (A) Read the following statements — Assertion(A) and Reason (R).
Choose one of the correct alternatives given below : 1
Assertion (A) : Human capital is not traded in the market; however

its services are traded.
Reason (R) : Human capital is intangible in nature.
Alternatives :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).
(¢) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
OR
(B) Benefits of physical capital accrue only to private entities, whereas
human capital provides private as well as __ benefits.
(Fill up the blank with correct alternative) 1
(a) profitable (b) social
(¢) fiscal (d) monetary
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23. Tmafafea stiwel % MUR W Tha 9 37016 (GDP %) i afish gfg o o ded &

A HU hl TEH i : (TE faehed 1 == i)
Tehel T¥e] IcdTE <hl 1Sk Ffig v (%). 1980 — 2017
W 1980 - 90 | 2015 - 2017
IRd 5.7 7.3
=i 10.3 6.8
ITfehEa™ 6.3 5.3

Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.

farerea

(a) 1980 o &I | = TN C&TS 37ehi H g L ST T H 9&T T |

(b) 1980 — 2017 o TeH T WRA & 3T o |

(c) 2015-17 % SR YR - Thal 9 391G (GDP) et g o1 373a fomam e |
(d) 2015-17 % ERH = T TIfREa™ S A Ifg T H Frrae 1 3Tgwa foram o |

24. TH fIaTAT H STe THIEAT o SR hT G THIEAT o GASHH ! ¢ ¥ A Bl &, al
Tieu HElad g g | (Tt forhed gr, ek o <6t g o)
(@) 39 & AT H (b) T STENTOT &THAT B I
(c) 3Tt I egwaT | I (d) 3o Hied amar @ 3T

25. wiad — I # feu T gre13ti o He 9 iom - 11 7 feu 10 wefa aui § 9 sme g™ &1
TIT R

e - 1 e — 11

A. | IR H o Y IET (i) 1850
B. | TISCO 1 = (ii) 1807
C. | WA &1 YT JTIIHTIES SHITIMT (iii) 1881
D. | & TE 1 Gal (iv) 1869

farerea

(a) A-(@) (b) B — (i)

(¢) C— (ii) (A D-(@v)
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23. On the basis of the data given below, identify the incorrect statement in

terms of annual growth of GDP (%) : (Choose the correct alternative)
Annual Growth of Gross Domestic Product (%). 1980 — 2017
Country 1980-90 | 2015- 2017
India 5.7 7.3
China 10.3 6.8
Pakistan 6.3 5.3
Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.
Alternatives :
(a) China was able to maintain near double-digit growth during the
1980s.
(b) Pakistan was ahead of India during 1980 — 2017.
(¢) India experienced a rapid rise in Gross Domestic Product during
2015-17.
(d) Both China and Pakistan experienced a decline in growth rate
during 2015-17.
24. In an economy, when the rate of resource extraction is lower than the rate
of regeneration of the resource, the environment may operate
(Fill up the blank with correct alternative)
(a) within its carrying capacity. (b) beyond its absorptive capacity.
(¢) beyond its carrying capacity. (d) Dbeyond its aesthetic capacity.
25. From the set of the events given in Column — I and the corresponding year
in Column —II, choose the incorrect pair :
Column -1 Column - 11
A. | Introduction of railways in India | @) 1850
B. | Incorporation of TISCO (i1) 1807
C. | First Official Census of India (111) 1881
D. | Opening of Suez Canal @1v) 1869
Alternatives :
(@ A-@ (b) B-(@)
(¢ C-—(ii) (d D-@Gv)
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26. (A) =T 1958H <1 3T hl, TTEehT 383 o8 TUT WR W T ST
HETYT | (Tl fopen g, e A T gfd &) 1
(a) TEH TEERI Aieehiceh Shifd (b) forarw amfefes & Y T

() 3Tie GuRi hl yEarTd () ¥ A BraE SAfEE
Freran
(B) I o ToHIfdeh 0 o1 H eliehdi=es Wit sht T o Teh U™
T S HATE | (Tl fashed g, fd A gfd opl) 1
(a) WS I gaheh (b) TIAT Hehash
(c) ik ferenrar @) Frefan g
27. freferfiga et &1 eamyes 315 i 1

HAA 1 : WA, Tl o < | A, <G8 o1 o &I Gcdl I1eA1 T 2 |

YA 2 : < 1970 % €Ik b 37d H TR hI TE Tehel STeteh AT 8 SEEAT Ifg X H
SHThT T AT off |

feu T ket % arreties ¥, fFrmfafad § @ ot fashen 1 9= AifvT

(a) FUT 1T IANHYT2 IHAE |

(b) FUT1IFILINFAT 2T |

(© Y12 TAE |

(d) YT 132 SHI ITTAE |
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26. (A)

B)

27. Read the following statements carefully :

China initiated __ in 1958, that aimed at industrializing the
country on a massive scale. (Fill up the blank with correct alternative) 1
(a) The Great Proletarian Cultural Revolution
(b) Setting up of Special Economic Zones
(¢) Introduction of Economic Reforms
(d) The Great Leap Forward Campaign
OR

acts as a measure of ‘the extent of democratic participation in

social and political decision-making.’
(Fill up the blank with correct alternative) 1

(a) Human Development Index (b) Liberty Indicator

(¢) Economic Growth (d) Poverty Index

Statement 1 : Amongst India, China and Pakistan, China is the largest

nation and has the highest population density.

Statement 2 : One-child policy introduced in the late 1970s in China led

to a considerable decline in the population growth rate.

In the light of the given statements, choose the correct alternative from

the following :

(@
(b)
(©
(d)

58/2/3

Statement 1 is true and Statement 2 is false.
Statement 1 is false and Statement 2 is true.
Both Statements 1 and 2 are true.

Both Statements 1 and 2 are false.
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28. “BHR UE & wfasy ) & & o sheq Icesia 9 fagen sterwaes 2 17

IUUd A 3R 3 & 311eiren o 39 Afvaes foar @ fiue & foe ol @) wrfifeat w
T L |

29. (a) “gIo & H, YR TR I HiY fafaefientor & qream & Fuehi 61 37 seH i foan 4
3 e I3 E 7
USRS U o ITeTIh B iy F faferefiertor & fopegi a1 oyl o s +1 |
Jreran
(b) “qrd | e o ey o 89 H Glh N 1 Hishd S&T 996 & |7
AT 3179 T 7T U & Tgud & 7 3794 Ik THH H BRI |

30. (a) “r@ W UWIEIUT (On the Job Training) W foha T == refeeen § e Ysit
Tomtor =1 Uk TRl FEA R 1
feu 7T e ht T HRET g gfE Y |
FUA
(b) “amvfia fshrar 1 WicaTfad i o forw Sfaes @edt wwr 6t | 7, W 3Eeh! 31U
%o Hd g |7
IR HY b TeTh T Siferh Well o fohedl & el o =mnsti sl T &l |
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28. “In order to protect the future of our planet, it is important to tackle
carbon emissions.” 3

In the light of the above statement and image discuss any two strategies
to tackle this global concern.

29. (a) “Recently the Government of India has taken numerous steps
towards increasing the farmer’s income through agricultural
diversification.” 3
In light of the above statement, explain any two advantages of
diversification in agriculture.

OR
(b) “Active Government intervention is essential in education and health
sectors in India.”
Do you agree with the given statement ? Give reasons in support of
your answer. 3

30. (a) “Expenditure on On-the-job training is an important means of
human capital formation in an economy.”
Give valid reasons to justify the given statement. 4

OR
(b) “Organic Farming is the need of the hour to promote sustainable

development but, has its own limitations.”
Elaborate any two advantages and limitations each of organic
farming in the light of the above statement. 4
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31. “9Rd # Y 3uH (Subsidy) W farr— d=i | sz 2t wedt & 1”7
Y IuEHT 1 ST @ % foder 3 fonedl €1 qen! =il i |

32. feu T Tfehgi & AR T

Some Selected Indicators of Human Development, 2017-2019

Item India China Pakistan
Human Development Index (Value) 0.645 0.761 0.557
Rank (based on HDI) 130 87 154
Life Expectancy at Birth (years) 69.7 76.9 67.3
Mean years of Schooling (% aged 15 and above) 6.5 8.1 5.2
Gross National Income per capita (PPP US$) 6,681 16,057 5,005
Percentage of People living Below Poverty Line (National) 21.9* 1.7%* 24.3*
Infant Mortality Rate (per 1000 live births) 29.9 7.4 57.2
Maternal Mortality Rate (per 1 lakh births) 133 29 140
Population using at least basic Sanitation (%) 60 75 60
Population using at least basic drinking 93 96 91
Water Source (%)

Percentage of Undernourished Children 37.9 8.1 37.6

Note: * for the year 2011; for the years 2015.
Sources: Human Development Report 2019 and 2020.

() UH-Teh AT Hehdeh o TR Hehelch Sh! Tg=H i |
(i) 9T (i) ® Tg=H T foRE T Hehdeh o TR W WA o <14 <hl goiT ot |

33. (a) (i) HfHeh-SHEE STATd Sl UfTT € | SHeh! ITiar Y faa=mr &t |
(i) ST fren oft W % 3T Hfium w r wiieries =EEE | T3,
T Ik HATd ScATEHAT A 7 I
sfiT =Y % TorTR bt feora ot fooquft it o 379 STt & wmeH H A= BRUTS |
Jreran
Gb) Q)  HreAT A IRAR & Td H HE B! 8, 3T A1 Al he o 1 &l IS & & 5
P e Srar g |
FIT 3 Ak b ®9 | Fiffeha fomam ST Tkl § 7 310 I o THA | 9y
SIS |
(i) “1990 % Wh & 37d § YA 7 Hhel Te] 391G (GDP) i ghg T TSR
o % TEY Teh AT 37al 3TIHd foha o |” faemm a6t |
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31. “The debate over farm subsidies in India is enraged at different

platforms.”

Discuss any two arguments against farm subsidies.

32. On the basis of the given data :

Some Selected Indicators of Human Development, 2017-2019

Item India China Pakistan
Human Development Index (Value) 0.645 0.761 0.557
Rank (based on HDI) 130 87 154
Life Expectancy at Birth (years) 69.7 76.9 67.3
Mean years of Schooling (% aged 15 and above) 6.5 8.1 5.2
Gross National Income per capita (PPP US$) 6,681 16,057 5,005
Percentage of People living Below Poverty Line (National) 21.9* 1.7%* 24.3*
Infant Mortality Rate (per 1000 live births) 29.9 7.4 57.2
Maternal Mortality Rate (per 1 lakh births) 133 29 140
Population using at least basic Sanitation (%) 60 75 60
Population using at least basic drinking 93 96 91
Water Source (%)

Percentage of Undernourished Children 37.9 8.1 37.6

Note: * for the year 2011; for the years 2015.
Human Development Report 2019 and 2020.

Identify one income indicator and one health indicator, each.

Sources:
@)
(1)
33. (a)
(b)
58/2/3

Compare India and China on the basis of any one of the indicator

identified above in part (i).

@)
(i)

®

(i)

Define Worker Population Ratio. Discuss its usefulness.
‘Mr. Rishi, after completing his education, has joined his family
business but his marginal productivity is zero.’
Comment upon the employment status of Mr. Rishi. Give valid
reasons in support of your answer.

OR
‘Kavya works on her family farm and is neither paid in cash nor
in the form of grains.’
Can she be categorized as a worker ? Give valid reasons in
support of your answer.
“In the late 1990’s India experienced a widening gap between
the growth of GDP and employment generation”. Discuss.
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34. frafafed T &1 eamyEs e S aun U U gl w1 3T 36 9 I 9E %
IR TE |
1991 & “31fefes GERI” & 3TarTd TRy fohT U wenfreaepdt 9 TraHTae FHRISE 3T
3 i o anifes fferll # e Wertfies o w1 fafad o o | TadEdn % o evR! e
R < foremr worifa & amffes ifaat amfsies =ma o Taear < = Scited o U |
e gfig @ % e & Fadfra off |
1970 & vt | Ig IS fohar wr Tk, 3mieie wfatatert w ohg frami it Iu=nfiran
TuTe B gehl & qT arad | 3 3ATIeh b § ameres 59 1 8 | 38 U 3T H ¥R o
1980 o T3 o YRH ¥ HB T ICRIhI GHRI hl JE3TTT 61 ot |
BTelTeh, R STefererer w1 3iter & Tl Hehe o1 HHHT hiAT U1 a7 THumIEeEy
() et s Hiar st AT
(i) TR YA ! G,
@iii) TR gerehifasit gamE;
(iv) SATEYIH T3 HI AU,
(v) TSI STemeH § frree snfe; & wror arde steferawen s dwe % R
g TS of |
39 ITA U The <hl UTAlRaT H TR A $8 TTRIIHRI 9 Sia-TcHes LRI i IE foha
I
() TN E1e | wHl;
(i) HgT Tfd ¥ gfg T e,
(i1) fafma e wureE vomeft anfe |
Tttt fifa 1 geT Iew Tmy | o T o refeyawen % ki
forehTE Ter & ITTET ST AT |
FrefeTaeT % YA U8 H GUR o 7T 9o o 9 § FlaTedes FHRIeH 391 fohdl e
S
Q)  3TEfies ARHE w1 g
(i) STREHE AR 1 FahEa w aref Fifa srae w1 R
(iii) Tocfta &= 1 fafrmm
3O STefeTawe o Srefehicres forehtd uer sl €l quid: see fea |
(efiepd T Hailfere)
i&u::(;/iliti. ov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-95.htm

(a) 1991 % 31iies GURT <l A T % Febedl <1 BTt <hl =i B | 3
(b) “1991 H I9d FU AT Hehe o T I H, THR 7 TATRIEhRT 3T FLTHS
FUR IR fopw o |7
W fopedl fi SuT <h1 Haig | s e | 3
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34. Read the following text carefully and answer the given questions on the
basis of the same and common understanding.

The stabilisation and structural adjustment measures, initiated under the
1991 “Economic Reforms” mark a watershed moment in India’s economic
policies. For almost three decades since independence, India’s development
strategy and economic policies were guided by the objectives of accelerating
the growth of output and employment with social justice and equity.
Ever since the 1970’s, it was realised that many of the regulations on
economic activities have outlived their usefulness and were in fact
hampering economic growth and development. In response to this, the
government initiated some milder liberalisation reforms for almost a
decade since the early 1980’s.
However, the Indian economy soon had to face the Gulf crisis and
consequently :
(1) The uncertainties about the oil prices;
(i1) The external payment problems;
(i11) The serious inflationary pressures;
(iv) The scarcities of essential commodities;
(v) The deterioration of fiscal discipline, etc.
These led to the Indian economy on the verge of Economic crisis.
In response to this emerging crisis, the Government initiated a set of
stabilisation and structural reforms like :
(1) Reduction in fiscal deficit;
(11) Containment of growth in money supply;
(111) An exchange rate adjustment system etc.
The key objective of stabilisation policy was to bring the growth of
aggregate demand in line with long term growth path of the economy.
In conjunction, the structural adjustment measures like;
(1) industrial delicensing
(i1) liberalisation of policy regime governing international trade
(i11) deregulation of financial sector
were taken to improve the supply side of the economy. This shifted
the long-term growth path of the economy itself completely.
(Adapted and modified)

Source :
https://niti.gov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-95.htm

(a) Discuss any two reasons behind the introduction of Economic
Reforms in 1991. 3
(b) “In response to the emerging crisis in 1991, the Government initiated
a set of stabilisation and structural reforms”.
Briefly discuss any three of such measures. 3
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